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tions (Q. Nos 1 to 39) by selecting the correct/most appropriate options.
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Teachers should provide €motional support to children in the classrooms to énsure
effective learning, '

~ Reason (R) : ok, Emotions and co

gnition are relateq t@th other in ¢
Choose the correct option,
(1) Both (A

omplex ways,
N
) and (R) are false, -

(2)  Both (A) ang (R) are true ang (R) is the correct explanation of (A).
is not the correct
(A) is true but (R) is false. .
T (A) :

(3) Both (A) and (R) are true byt (R) 1_ ‘ﬁxplanation of (A).

ﬁaﬁ@wﬁummgﬁﬁaﬁ%{%maﬁaﬁ@mﬁmﬁwu
T (R) ; ﬁﬁﬂﬁ%@{&f{ﬁﬁﬁamﬁﬂfﬁﬁ;)ﬁi '
et oo : €
(1) (A) S (R) SR e 3
(2) (A)W(R}ﬂﬁaﬁrﬁaﬁtmﬁ(mqﬁmm%a
(3) (A)W(R)WW%W(AW}(RW@WﬂW%
(4) (Amﬁ‘r%éﬁm(mw%a
3. Children wi

(2) wwaﬁmmﬁmm%‘ o H
®3) Wﬂmzﬁﬁﬁ%%ﬁﬁmaﬁ%y
(4) @ﬁﬁﬁ@%a@wﬁnaﬁ"ﬁéﬁwﬁm%n

. R : 0 P.j
P - - v |




Ty

P
Vhich of the following statement best descy
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2) The teacher is the primary source of knowled 0w V. -} ik
41 The teacher serves as a facilitator. e

) The teacher implements the prescribed curriculum st is'
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Which of the following, is correct in context of gifted children ?

/(ﬂ Gifted students learn at comparatively advanced pace than other students.
(2) Gifted children are free from risk of learning disability-
(3) Gifted children certainly excel in all areas academic, social and emotional.
(4) Gifted students are always happy. popular and well adjusted.
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As per Jean Piaget, pre-operational stage is clmrﬁmdfﬁzﬁabilities to perform :

4rf  Symbolic play and animism (2) Cla tion and seriation
(3) Conservation and abstract thinking (4 Imitdtion and reversibility

vﬁﬂﬁm@i%a@mﬁmﬁf@aﬁﬁﬁ-@ mmiqﬁ-mmmmﬁﬁimm%?

3) T iR e T (4) TG SR AR
What is the primary purpose of asking critical thinking questions ?

(1) To encourage students to memorize information. £ {5
() To enable students © develop procedural knowledge
A3 Toassess students’ knowledge and understanding SKis.

@ To promote higher-level thinking and pmblm-sol%g}sklﬂs.
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10.  According to Lev Vygotsky, children regulate their gy . through the's
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Preconceived generalizations about behavigyy of various gender are called :
(1) Gender typing

(3) Gender discriminations Gender stereotypes
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In an inclusive classroom : L
(1)  All children follow same curriculum and uniform pedagogy is adopted for all learners.
(2) ‘Special children’ always work on their eir-own curriculum.

(3)  All children have access to and are included in classroom activities.

(4) ‘Special’ children are looked upon as ﬁeedy and dependent.
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According to Lev Vygotsky’s theory, which of the following is a recommended approach in order
to optimize students’ learning experience * —

(1) providing students with work that tBELcan marlage and complete individually.

(2) providing students with work th&ﬁs completely unrelated to their current level of
understanding. £

(3) providing students with work that i __ beyond then' current level of understanding, with
appropriate support and guidance. = -

(4) providing no support to students aan_zavmg them to struggle on  their own. .
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When presented with Heinz's dilemma, Arunima reasons : “The law wasn’t set up for these
circumstances. Taking the drug in this situation isn't really right, but it's justified.”

Which stage of moral development is Arumma according to the theotry of Lawrence Kohlberg ?
(1) Instrumental purpose and exchange-= =

(2) Social concern and conscience _;;
(3) Morality of contrast, of individual rlg}ﬂg and of democratically _

(4) Orientation towards punishment and ebedience accepted law
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in mathematics A: s “Tjust don’thave the sense fo
"' While talking about her poor maTl:Z o visays“lj T numbers” 20.
Avi is attributing his perform'm

/(”) Lack of ability ()  Luck (3) Task difficulty (4) Lack of effort
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Assertion (A) : While some children start babbling and,utlzermg two word sentences at 12 months,

others don’t do this till they are 20 mﬁ_nths old.
Reason (R) : Development milestones are only suggestlve and development of individual
children can be quite varied.

Choose the correct option.

(1) Both (A) and (R)-are fglse.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A). -
(4)  (A) is true but (R) is false,
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Which of the following is.nut a characteristic of a well-formulated critical thinking question ?
(1) Tt promotes higher-level thinking and problem-solving skills.
(2) Itis open-ended and allows for multiple answers.
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(3) It is based primarily on factual information.
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(4) It requires analysis and evaluation of informa
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\ A) : Teachers should constant] . : ; :
Assertion (A) oty chidie ¥ €xamine their own attitudes and biases while working

Reason (R):  The process of problem-solving g 1r: : - .
Choose the correct option. g 1s hindered by functional fixedness.
(1) Both (A) and (R) are false.

2) Both (A) and (R) are true and (R) is the ¢ ‘

((3)) Both (A) and (R) are true but (R) orrect explanation of (A).

(4)  (A) is true but (R) is false. % the correct explanation of (A).

AR (A) : f:;ﬁ%%ﬁ%m%@ﬁmw AP T 3 S iR T # e
| -

i - T W Hfes feern @ v 81

wet fowed =94 ) ol .

(1) (A) 3 (R) 3R T € =

@) (A) 3R (R) S W E SR (A) (R em ww E
@) (A) S (R) R T T Al (A) T (R) T e
plg (A) T8 ¥ B (R) T T

21. Assertion (A) : Classroom pedagogy should be culturally responsive to meet the needs of students
from diverse cultural backgrounds.

Reason (R):  Equity in classroom can be ensured only through standardized curriculum and
assessment. =

Choose the correct option. ‘*:f's . _

(1) - Both (A) and (R) are false. S e :

2)

Both (A) and (R) are true and (R) ig-the correct explanation of (A).

(3) Both (A) and (R) are true but (R) 15?@9): the correct explanation of (A).
(4) (A) is true but (R) is false. e sl
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Howard Gardner’s concept of Intelligence implicates that :

(1) intelligence is only about ‘practical“Tearning,. :

(2) everyone processes and understands, the world in the same way.

(3) human beings differ in their abilities in different domains.
(4) * intelligence has only one dimensioft |
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23.  Which of the following is not an effective memory technique for meaningful learning ?

(1) Elaborative Rehearsal (2) Rote Rehearsal

(3) Mnemonics (4) Concept Mapping
Frafafan § 3 =9 o gefe et % o T geEt s ok @ e ?
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24. Which of the following sequence of represer jl n of concept is in accordance with childrer’g
gradual development of cognitive abilities 7 %7 2

(1) symbol-based, image-based, action-base
(2) action-based, image-based, symbol- baSe
A27 image-based, symbol-based, action-based _
(4) symbol-based, action-based, image- basea=
Trefefad § & sraumon ¥ frea & HR- mmﬁﬁmwﬁrgﬁmﬁm%ﬁm%
(1) H¥a-anuiE, sfa-snufa, Fr-snufg 2
) fwar-smafE, sfa-snuf, ha-smf
(3) Sfa-miE, Hwa-snufa, BFa-snafa
(4) Who-efE, fn-sm, Sfa-enaf

25. Assertion (A) :

ﬂ..

Teachers should focus on asking questions in classroom and encouraging children
also to ask questions rather than giving instructions.

Child-centred pedagogy means. _giving opportunities to children’s voices and
ensuring their participation. ===

Choose the correct option. <
(1) Both (A) and (R) are false. + '

—42) Both (A) and (R) are true and (R) is themrrect explanation of (A).
(3) Both (A) and (R) are true but (R) is not The corre-::t explanation of (A).
(4) (A) is true but (R) is false.
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26. Jagriti has learned that her dog, Rusty, is a G Tden Retriever, When she sees another dog th

looks similar to Rusty but is a different breecLT she calls it a dog too, According to Jean Piaget!
theory of cognitive development, which concept ¢ does this demonstrate ?

Reason (R) :
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(1)  Assimilation (2) Epotentrism
3) _ Object permanence (4) Conservation
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ral children, those who experienced severe (human) social deprivation since very

ually have delayed or hindered development and despite rehabilitation the improvement in

rtain domains of development is likely to be subordinate. This period wherei i
gniﬁcanﬂy o W i bt Ca"e& pe rein development is

young age

) sensitive per?od (2) Eﬁeauctive period o
) intuitive period (4) ndtive period
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Repetitive and ritualistic behaviour is an idenﬁf§mg characteristic of :
(1) Cerebral palsy

(2) Autism Spectrum Disorder

(3) Learning Disabilities

(4) Attention Deficit Hyperactivity Disorder

Srevd 9 SER fFy T e SAeeR haen fofire weem 72

(1) TS Tes i X
() e ®H ER & = % o
(3) it fashetimal i =
(4) A A ST fahr f

Which of the following would support conﬁ;iluoi:%s and comprehensive evaluation 7

(1) Standardized intelligénce test # (2) Bestworks portfolio
—£3) Growth and learning progress por’cfo1io%‘;l_gii (4) Standardized achievement test
Frefates § | BF-m T i = geaisTar aredd wun ? |
(1) HFEFa ghe Te 2) WIS HE GERfE
(3) dfg 3R st wifd Wil (4) TIhIGT ST THET
. ’i!t;\lflﬂaich of the following is correct about the process of learning, according to socio-constructivist
ories ? 4

(2) Learning is an individualistic process th ;:c;ciccurs in isolation.
(3) Learning occurs only in a classroom or formal educational setting,
(4) Learning is a passive process that occurssolely through observation,
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~1) Learning is a social process of meaning gm_king.
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faHume questions by selecting the correct/most appmprmte options,
tl
Direction : Answer thie 'Gg'i'/'x‘?ﬁﬁ 3'735'?7 . :

housand +13 hundred +2 tens is equal to 375
12 thou

Q) 121320 G- 1102 Z*?’L 130132 My 13320
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1) 121320 @ 12132 (@,

31.

% 130132 (4)
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32. bne crore is : o vy .E{‘aﬁ} . :
(1) hundred million @/ten million (T3 one million (4) . one billion
O AT Q) <y i O WREE @) w e
33. Which of the following resources i is best suited to explam the concept of decimals ?
(@) Number Chart _(b)  Dienes Blocks %
(©) Taylor's Abacus (d) @E abh Paper
Choose the correct option :
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34. Which of the foﬂowmg letters has no line of symmetry ?
1) x @ L @ A
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In a certain week, the number of patients in a denta] clinic was as follows -~

Day Number of patients

Monday 25 o
&N

Tuesday 38 N
Wednesday 45 ?1
Thursday 18 ) )
Friday 36 L
Saturd 39 ' L(

d
A ' -

Based on above table, choose the wrong statement :
Total number of patients was 200 '\'P
(2) Range of the data is 907 1 |
(3) On most of the days, number of patients was more than 30

o

9l

(4) Difference between the number of patients on Monday and Wednesday is 20 /

N
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SIHER 39
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37.

ing is true ?
(b) x-y:y=p-q:q

i : the follow
q, then which of

ES0 o d) x+y:ix—y=p~q:p+
x+y:y=P ( y Y=P—q:p+q 5

f?)) ; Tg#y ;1‘11 © @ (a) and (b) %(3) only (c) (4) (a) and (d) 3
(a), (b) an¢ g HF-91 : 3?
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Which of the following Indian mathe"ﬁﬁ’*ticians are known as founders of ’nume;ica[

analysis'? ‘ ”:"“_'&“
() Ramanujan (u)l;“'ai_:ghaskaracharya
(iii) Varahmihir ~(ivt§‘ryabhatta

Chpose the correct option.
Vaf (i) and (iv) (2) (i) and (i) (3) (i) and (iv) 4) (i) and (i)
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38. Which of the fol]owing staten-xent(s} is/ aré% about numbers ?
{a)  All positive integers are whole numblegs’ -
(b) - All whole numbers are integers, #Ek" e, -y
W (€ All rational numbers are real numbers, %
f“\ (d) Al irrational numbers are real nun@ :
‘1' Q Choose the correct option e . _
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\e main approach suggested by National Curriculum Framework (NCF) 2005 in teaching learning

- mathematics is :
fccnsh'uctivism (2) Instructivism  (3) Pragmatism  (4) Behaviourism
gwmﬁwwmm 2005, mfirg 2 faeot Stferire o R H T R AR :
1) AR () e (o) vefEe  (4) SR
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Students in a class are solving questions baseddi percentage dis

_ counts. One question requires the
ctudents to calculate the cost of two bikes, withia 8% discount on each bike. One of the groups

calculates the total cost of the bikes and then gijdizcts 16% from the total cost. The method used by
this group is pote] '

(1) False, since they have deducted 16% frg Fthe total instead of 16% from the average of the
' total. g

3

figar]

(2) Correct and is the only way to calculate the discount and cost.
(3) An alternate strategy to solve the question.

(4) False, since they have deducted 16% discount from the total instead of 8%.
@mﬁﬁwﬁqﬁm@mmmﬁwwﬁ%nwmﬁmﬁﬁﬁmm
mﬁ%ﬁgﬁwaﬁrz{m&?ﬁ%w@m@ﬁﬁw%l T T Sl ARl
@@mmm%ﬁmfmww%ﬁs%mm%l 7q wE g Fam &1 7 fafy
/(lf)/W%%ﬁ%@ﬁlﬁ%_ﬂ@lé%_-@@%%ﬁi

@) aﬁr%ﬁmaﬁg@wmmm%iwaﬂ%%l

) w9 T FE 1 FepTedsh wEAI gl :EE |

(4) m%aﬁfﬁa@ﬁﬁ@ﬂ%ﬁwzéz%@mal

41. While teaching equations a teacher explains thgz_%:gncept of a linear equation having unique solution.
She further asks, “If a solution is given then how many equations you can create” ?

Choose the correct option :

(1) Two equations (((27 One equation  (3) No equation (4) Many equations

Tt ver T fafeE it 7 91 Yfaw FHiw i SR <l TS &1 O ST I E,
“ o g T T B A o fehet TR o Wehd €' 7

gﬁﬁﬂ?@'@ﬁ : i:}
1y & (2) T FHEH Q?Bi i T T (4) T
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42.

Two columns are given as shown below :

Column - I Column - I

-1I
(a) fac_e of a black-board (i) two end points W\ % "
?3 2 line I}:as (i) one end point \‘t} "zﬂf

. ray as (ﬁi);‘" giepresents a part
(d) a line segment has (iv)jjf*%ﬁ})defﬁﬁte 131;?5&101[ Pl
Column - I and II are matched as : g,‘“’ ! % A
1) (@), (b6, (©-Gv), @) T o
- %

awﬁqﬁq% e i

@) (a)-Gi), (b)-Gi), (©-G) (@-Gv) [ - ov -
&{:}; (a)-Ciid), (b)-(i), -0 O | § ?f(’ \
@)-Gi), (B)-Gv), (), (-0 s | Vel &
Wb , &6-
o ALY
|

- L
W -1 y  T-n o3
(a) AU T TH B () “HemRigaE : R
(0 ! (i) s figd
() ThiEmH Q) N AR
b =N (i) TS A F1 Th 9 T F e VAR
(@) T XEEEH (v) PR 40 A
-1l = e E AL "
@ (@), b)), ©-69) @-6) T B
@) ()-(), B)-Gi), ©-@) @-Gv) = T \ /
@) (a)-Gi), (b)), ©-0), @-Gv) £I7 43 '
@)  (a)-(i), (b)-(v), (-, (@-0) 57 e /’7%4
43. I (7 * 2) % (123)= 92496, then value B B {5 i
A0 > ) e ) (B T @ & 3 N
aﬁ(7*2)x(123)=92495%,ﬁr*$1nﬁ*%‘% -
@ 5 @ 2 e SO @ 4
44. - Saumya joined her job on 13—01-1992? -%fafd she took retirement on 31-03-2023. Duration of b¥
service was : ; ;
(f) 31 years 2 months and 18 days  (2) 30 years 10 months and 19 days
(3) 30 years9 months and 18 days  (4) 31 years 2 months and 19 days
e 3 13-01-1992 T FH FT A fpe 3l 31-03-2023 1 I gl & Tt SER G okl
iy ot :
(1) 31 ad 2 W 37 18 f& ¢ ¢ 30 = 10 W & 19 f&
(@) 3079 A ot 18 55 31 = 2 W R 19 T R
SPACE FOR ROUGHIWORK /T T o T S Bt
J sty s W+ =
- Pl o RN T e S
\{\’Ib & s o U‘W"'T EE% =AM wy (2
L A i < M ol
0 /9 Rl i R e 7T

Pt (NN 18 Tt
i ! Ry DE'l RN - .
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Inorder to identify indivi.dual differences ogfatildents in the mathematics class, which of the following
assessment technique will not be appropriate'? . . :

(1) Peer assessment (Q.)Késllmmalive assessment
(3) Formative assessment (4)===Diagnostic assessment

'nﬁmaﬁmﬁﬁaﬁ&iﬁﬁﬁﬁfweﬁ%ﬁm%mﬁmﬁmﬁﬁﬁ

i Hl AR eI IR
T et 2 N 45 |
A1) TEERET S (R AT SeheH
(3) TERH STeheT ' (%Eiﬁmﬁiﬁ 3TReT
Which among the following is/are true about the computation in basic operations for Grade-IL

learners ?
(a) Itinvolves child’s ability to develop informal strategies.

(b) Itinvolves child’s ability to estimate.

() Itinvolves child’s ability to do calculations with large numbers.
Choose the correct option : :

W @mat @ oo 0 @md© @ @ad@

L % sl feTe ST WA s 3 ferg frefeie 3 @ -  wE 4R2
(2) wﬁaﬁﬁﬁwﬁﬁmﬁﬁﬁﬁrﬁ%ﬁmaﬁmm%l

() ﬂﬁﬁﬁwﬂwﬁﬁwﬁa%l

O @O @ FE %{3) FOEACTNORCRC
47. In a mathematics class a teacher explaiﬁ?ﬁé cor'ncept: of !aifférenf Ianlglés.: i—fe/ she realizes that
scissors is a best example to explain ___ o L et
~Ad)  Vertically opposite angles (b)  Linear pair of angles
(c). Corresponding angles - ' (d) Alternate angles _
Choose the correct option : _ : y ; -
0 Had© -, @ @adl) @ @awd@ @ (Qand ()
Wwﬁﬁwﬁmfw#ﬁﬁmmﬁmm%ﬁ%m{ﬁf@?ﬁ%%ﬁ
=1 gmE % T Feien e ¢ oy

(@) weimE@Ee . ()] il 1 e g
(¢)  H (== THIT I
W fased 91

1) b FRE @ @O (NE) @ 3R (<) @) () 3R (d)

5"/(/ SPACE FOR-ROUGWPRK /T = o T s

otle a1 ? 1
T N EH AW

y 9 b
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48.

49,

50.

51.

| Q=] © g@%

| | o
1233210+ 5555 — 222 is equal to : . v
1 3 @ 1 er.® B \;‘S;\'gg
1233210+ 5555 — 222 &R & | A
(1) 3 2 1 (e o 2 (s
| (1 &

312 pem .

* Arrangement of fractions %, ;I; 7' @ dﬁtﬁ‘:reasmg order is :

112 31 TN Ll il 1 1 1 123 1.1
D oe7s @ 79020 7avad @ 57as
2,103 12 o iy o ot v A Sl &

9’ 21" 7' g 1 -

199 8 3.3 d2 34D g 287 1
O v&7s @ 575gad 5 3o W @7
One egg has a mass of about 65 g, what is the mass of 2 dozen eggs ?

(1) 1kg54dg () 156kg (3) 1kgS6g (4) 1304 kg
T SIS I SR R 65 g ¥1 2 T Siel o zea foe 2
(1) 1kg5a4g 1%kg o) 1kgS6g 4) 1304 kg

- ‘Which of the following represents the featgl%? of a mathematics laboratory ?

(a) Itisa place to enjoy mathematics thio gh informal exploration.

(b) It provides opportunities to prove mathe: atical theorems through experiments.

(c) It provides opportunity to make conjectures, test them and to generalise observed patterns.
(d) TItis used to assess students’ knowledge:of mathematics and grade them accordingly.
Choose the correct option. o e e :

A Band(©  (2) (@and (@) L%
Treifefiea & & %1 TR 9 v e 5%

~) (@) and (o) (4) (b)and (d)
ferraeti =1 frefim s 2 L[y
(a) %ﬁﬁmm%mvﬁmﬁmﬁaﬂﬁww% | ,\;?,39'}';-%
(b) =& ST 35 G Tofen sl 1 g et 3 TR W e 1 s
(c) %ﬁwwﬁ,wﬁﬁwmé@wﬁﬁwmﬁWW%mmm%n
(d) mﬁmhﬁw%mtmwww%mﬁﬁmmm%%mf@

Ein/ke! O !
, | 2T 410
Wt foshed 1 ' : 11",

(I
O OO "0 wka OB @®e @ mag [
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, L4 ’\%ﬂ:& %Jlfq’fg,)’q) e

. .
rriculum Framework For Foundational Stage (NCFFS), 2022 highlighted the importance
following components while teacll{__l;l__g;_an abstract mathematical concept :

Written Symbols (b)—Experience

() Spoken Language _ (d)=EPicture

Which of the following is the appropriate sequence of these components while teaching an abstract
mathematical cont‘@l)}t_'.i @ (2751__( : :

- ()= ] (=@ —(d—

%a)’ o 2056 - NS 02 @ 0 5
e T 3 T T e e (W T U T), 20223 ST O TN & e &
T FreftEd Tl % Hew W TR SELL

(a) Tafaa foe (B) 2

() Sa-=Ie el S @ T -

et o ST 36 T S W e - e ST €2

M O-=@-@-=>@ (2 ©-(@)—(d)—(b)

@) () -~ @ - @ O->@->@-0

Reju has turpentine oil in 5 containers each of 20 L size. He fills them in 10 cans of 5 L, 10 cans of
2 L and rest in 1 L cans. Number of 1 L cans-filled is :

(1) 28 @) 25 g T @) 22 |

T % T TS 20 L 99 WOF 5 Al A awd w1 39 ¥l 56 T 5 LA 10 i, 2 L &
10 T iR T W 1 L A S # T A A o gen ©

41) 28 @ B5 ) T 8 0T T A2l

M

il
i

4. Which of the following learning experié__ s for children does mot reflect the contribution of

mathematics to everyday life and society = _ :

(1) Play small group games that draw on mathematical skills and concepts.

(2) Communication of mathematical idéas in writing using both formal and informal languages.
(3) Meeting people from different areas of employment and explorin

|

|y

g how they use mathematics
in their work. : L, A QO
(4) Collecting, organising, representing and interpreting data in day-to-day life.
frefafea § @ o=3i & fag @ @

s e T A e St 7 i & A o it
FAT? i '

(1) ﬁma@@@a@ﬁmﬁmﬁﬁﬁﬂm@mmﬁﬁtmmﬁl

2) ﬁmﬁﬁwﬁawaﬁmgﬂﬂmwmﬁwmﬁW|

@ TR - 25 3 il & FreErEn ST R R ST =T & TR <6 e R IR
cackd ‘ |

U

alfl

e

@) %ﬁmsﬂmﬁmm@lmmm,ﬁﬁﬁamwmml
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55. 22 hm 8 dam is equal to :

58. Which of the f
that are logica
(1) 22080 m (2) 22800 m' (3) 0, 2208 m ‘)9/ =50 (a) Theconc
Ei;é of numb
22 hm 8 dam TR § _ 5,3 (b) Multiplic
(1) 22080 m @) 22800 m (8712208 m (4) 2280 m () Number.
= Choose the cor
- N ” i
56. A mathematics teacher discusses the concepf 0F open and closed curve in class. For bette ey Tmﬁ =
understanding of students she gave an example with four points, If the curve is open then natyy ST 8 2
of four points is ; - ' Bk 5
. (a) O =i -
(1)  Three of them must be non-collinear ~(2) Al are collinear (b) T, 4T
(3)  Two of them must be collinear (4)  Three of them must be collinear @ wEras
nﬁmﬁ@ﬁfwmﬁ-ﬁ@ﬁﬁﬁawﬁﬁmmﬁw%l Terenfoidl 1 s v & 1) Fu p)
& =R gl & W U e A ST 5 TG € 7 =R gl o Rty ¥
(1) =7 9 T sriveh 8 =if. (@it T § 53.  The difference b
(3) A A T A e 7 3 F e ot e 0 s
: ' i 5,1,0,3,9 -
(1) 851731
57.  Two angles of a triangle are 5(° and 30°. Then, the third angle of the triangle is : 60.  The missing nun
: ' 43,47,53,59, _:
1) 8o A 100" @0° @)  60° e a
h (1) 65
T T39S % & 3 50° s 300 ¥ T B A rEmE § 43,47,53,59, 2
M (1) 65
(1 so0° 2)  100° o o
(2) (3) 3,40 4) 60 B e R
SPACE FOR ROUGH WORKY % %74 & fo v y P
A0
= wb ol
b o domo #H AL B
So R¥o A=l 80 A0 2.2 0
! " 2?0
b Hon 4 T8 gy
ol | (T Lo
18 - 2R
e g e <
I ; o XLEAPYI0 |



Which of the following are correct examples of the statement “mathematics is hierarchical in levels
that are logically structured”.

(8} ThpconeDEGTRER HEEdsit&be developed before the concept of multiplication and division
of numbers. £ 5

—-:;r E

(b) Multiplication follows and bgnsltl_s on the concept of addition

() Numbersense needs to be developed before the concepts of addition and subtraction

em——s

Choose the correct option :

(1) only (b) (2) () angl(b) 13)  (b) and () @) (a) and (c)

“Tﬁﬁﬁﬁﬁﬁﬁaﬁﬁﬁ%ﬁﬂmmﬁmﬁﬂﬁ%”ﬁﬁﬁqﬁm&»{ﬁgaﬁﬁ?éﬁ_ﬁqﬁ
TR R ?

() Tﬁﬁﬁmﬁﬁw&ﬁ%mﬁﬁwaﬁmm@ﬁ@mmﬁméﬁ%
(b) IO, T h STHERON I AT A & 3R 36 R for i S 2

© ﬁaﬁﬁnaﬂtaﬁwﬁmwﬁqﬁmwaﬁaﬁwaﬁ%l
(1) ¥ ) @ @ @ OFO @ @ME
39. The difference between the g‘reatesiﬁ smallest 6-dxg1t numbers formed by using the digits 5, 1, 0,
3,9and 61is: !
(1) * 851731 (2) 8617 zfl (3) 862731 - .,(4)’ 951741
&ii 5,1,0,3,9 meﬁwmﬁmwwamﬁmmw%
(1) 851731 ) 861741 - (3) 862731 @) 951741
60. The missing number (?) in the following : l i 6_; D) (J {
13,47,53,59, _2 67,71, 73is:
(1) 65 2 6 O (3) 60 4) 63
43,47,53,59, _2 ,67,71,73 & q?r‘ﬁ@m ?)%: |
| g §)|99?99?£
(1) 65 ~A2) 61 PJ 3 (3) 60 | (4) 63
o SPACE FOR ROUGH WORK / T &4 & R W g [ $%, U0
2|0 g
Qa L5 s
o156 1 ‘ e (I - ' a
& yt &'3v$qrf S
1% D DS Sy
' 2 8 o \\"} s 9
P-1 TR e 19 qg 1 ué |{’1 Q¢ t2)o D
?/?:3? : 95 -~ 1 %5¢q0p
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PART - 118 / {191 -~ 1N ' 64.
ENVIRONMENTAL STUDIES / qufawu] araa

Direction : Answer the following questions by selecting the correct/most appropriate options.
fder ; ﬁmﬁ:@amgmeﬂ$mnﬁmﬁﬁ@ﬁmgﬁm
61. Consider the following statements (A) and (Bi_j_:—-—__é

Statement (A) : Crows build nests on very low branches on a tree.

Statement (B) : Weaver bird stitches two leefw':res to make its nest.
Select the correct code from the following : =

A1) (A) is wrong but (B) is correct.  (2) (Aj and (B) both are correct.

(3)  (A) and (B) both are wrong. (4) £ (@A) is correct but (B) is wrong.
%WWW(A)#R(B)WWWIEE% A
mm(m:aﬁwﬂgaﬁa@ﬁmmmsﬁg@%l |

AT (B) : o wal & I W ST Sewed o g %
ﬁ?ﬁf@aﬁﬁnﬁm{{ﬁm

(1) (A) 7T ® g (B) W ¥ @ (&) Sir (B) 3w F

(3)  (A) 3R (B) i Tem ) 4) (A) W& & T (B) T % )

EVS at primafy level is recommended to be transacted in an integrated approach. The most
appropriate reasons are : : ; £ = .
“(a) EVS draws issues from subjects like Science, Social Science and Environmental Education.
“b) It helpsin developing holistic understaniding. :
() It helps to reduce burden of students afd teachers.
(d) It is convenient to teach integrated EVS:— : ..
(1) (a) and (d) (2) (Jand (@) ZBE (b) and (c) £4)  (a) and (b)
mmwwﬁwaﬁwwqﬁmﬁmﬁﬂmwaﬁmﬁmﬁ%i T ITIE T
@) ﬁwmﬂ@ﬂamﬁam%ﬁﬁf@gﬂm&ﬂmﬁﬁiwml
(b) F% ¥ W fofaa e § nee w2
© mﬁi@tﬁmﬁ%ﬁ%aﬁmwfﬁmw%t
() THTT T T gl ¥

(1) (@) 3R (d) @ (9 @ ()

62,

B OO @ R

63. Select incorrect statement about elephant he@mm the following 1
~ ' (1) Male elephants of more than 15 years of age leave the herd and :
(2) Female elephants live in herds, ?g : move around alone

(3) A herd has 20 to 25 female elephants afd Their yo
' (4) Male elephants live in the herd till the young ones,

il & o o o P o we g 3 3232__‘;%14“15?@&*:9 old.
) -araﬁq*qu;ﬁw%l gaﬁsﬁmﬁ%x
(3) W'ﬁ@'zﬂﬁ%ﬁqﬁﬁ.ﬁi-wwqg
(4) aﬂ%14-1saﬁﬁmwamﬁ@§%1

p-1 IR g

i1
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4. Youare located at X and your school is located at Y,

65.

66.

67.

M gl g W L

g

. i There is no straight path from your house to
your school. So you first go to A which is about 125 m due north of X, then g0 to B which is 75 m

due west of A, then go to C which is about 150 m due north of B and finally reach your school at
Y which is 75 m due east of C. With respect to your school at Y, the correct direction of house at X

4

15 : %
\,(a{ South east (2) Due North ﬂigs) Due South (4) North west

TR =X X TR Teurd § e s femmer v -‘.3 & @ R W ferer e % for 5 Tt e

= 3—'13:WWAWHﬁ%@X%ﬁ%{%%mWI%Wﬁ@W%,WWBWW%,?]A
%a’lwrﬁaﬂﬁ:?sﬁaﬁ'@jt%,waméﬁj {0 & S B % Sk S A e 150 w2 W E 2w
I H Y W 7o feremerd vgee € 9 C SI el B 75 et W g W Y W s fermer %

X R 31V R Wel fawn @ g2 S
1) o @ FEIW pE) FEEW () T v

There is a species ‘X’ of plants that grow in a huge number but is found only in “Y” part of India in
the whole world. Which type of species is it ? .

(1) Endangered (2 Abundant

(3) Exotic (4) Endemic

T O I X T S e e § e A ¥ e @ fea A W ¥ v
7 ToFe Tor =t v 2 Ay - |

) Toq@dn st W L (2%“"%%@{ T _
_ gt 5 54_5 e 4 & 4
(3) fact @ prafe -
' T ,
| b i R 15w Al
Select from the following a group consisting-0f alloys only ;

AY  Steel, Brass, Bronze (2y"Brass, Bronze, Lithium »
(3) Magnesium, Aluminium, Steel  (4) *Steel, Brass, Tin N
ﬁﬂﬁmﬁﬂwwﬁgﬁq@ﬁam@ﬁ%%; L
(1) ¥, 9, Fis 2) w9, 9is, ot
(3) Hriifrem, Tefafrm, W (4) ©, W, o

An EVS teacher asks her students to imagine and answet, “What would have happened if all birds
were killed at once from earth ?” Such a ﬁ‘iﬁ*‘%ﬁ”“ is |
il

(1) Philosophical question (ZI}mfonvergent question

(3) Hypothetical question (4,}t g'ghpivergent question

e £ fafider 9 B & e e ol 37 i fore e ¥, o e sty Y
T | AR e S 2’ T8 e E sl

(1) i (2ysifvrd W A AN 2 3.

(3) A T g 7 o T8 Hlim

Pt A 21 D



68.

69.

70.

71.

p-I

Itis 7.30 P.M. in India today. It is 2 P.M. of the same day :

(1) in Karachi (% ingzopdon (3) in Japan (4) in Dhaka
YR W 7.30 P.M. ¥ 34t fa zgfmg‘élfﬂ: . |
(1) @) @ad (3) S @) emH

Which of the following strategg?ﬁgomotes inquiry while teaching the theme “Travel’ ?
(1)  Showing pictures of Vari?’és‘izplaces of interest in nearby areas.
(2) Asking students to C0]1ec}%.;§f§tures of various means of transport.
(3)  Asking students to narraﬁgﬂ*ﬁeir or their heighbours’ experiences of travelling.
(4) Asking students to make a digital presentation on vintage cars.

2
et = 3 i o <orfs e’ o A e e s () I STl <l &2
1 SH-Ir < &= H wfa & fafy Tl & fot faamn
(2) oA uREes % fafe= qep % ool v w0 % fore e

g

['{rill

27 ST | S M I TSR, I % St i wan ¥ e e

UL %

-]

(4) B FE w fefvesi 3 3 fom s

if

A teacher follows the fo]lowhg:fﬁethods while teaching EVS : Thiﬁk—Pair-Share, Reciprocal Peer
Tutoring, Jigsaw Strategy and ai_gee; Review. These are examples of :

(1) Inductive approach  Lf 3 (2)  Peer group learning
(3) Constructivist approad-li??é’* (4) Didactic approach
<N T W e e et faferl w7 e e # < WS- 5, et e
I, TS (Jigsaw) TorRify, wrearet gerdvern RESCE R

(1) TS SIS 2 e W g e
(3) TEARHE UM (4)  SRIEE Y

B
Saleem and Raju are young sct@“ej@oers. Saleem likes to eat lot of fried food and ‘maida’ product
Raju on the other hand eatg 1 me

made healthy food but he never eats spinach and other green
leafy vegetables. Which of the foll

owing disorders they are likely to suffer from, respectively ?
(1) Pellagra and Anaemia (2) Scurvy and Anaemia

(3) Kwashiorkar and Ange ) 'a} —t@)  Obesity and Anaemia
AR R T 75 EE R A S —
e # 4 s e foame i 4 =5 <rerr 32

R T TR G ey

3) Wﬁﬁmaﬂtaﬁrﬁm _
Tt T et R . D



73, Map Reading activity in EVS classes develops certain abilities and skills in primary students. Those

are .

(a)
(b) Understanding directions of ILCES

o ot

c) Understanding symbols ang scLle

(

(d) Drawing precisely accordmg Eo the scale maps

(1) (®)and(q) 3 (@) () (b)and (0)
3) () (c)and (d) P @ @ (0) and (d)

E’Ww@ﬁ“H'“W“ﬁ'ﬁfﬁmﬁwwaﬂeﬂzmmmm% a%.
(a) T ol et feufd it wmem

(b) ! e = wmgE
(c) ~TEERI IR THAM N TR
(@ YR F TR F TR G T Y @
(1) (@) () 1)

£y (@), (b) S (c)
@ 6@ N @ @oRa
73.  With respect to Tela.ngana the re % tive locations of Gujarat and Bihar are :
1y North west; North east m: (2) North west; South east
(3) South west; North east ; (4) North east; North west
eI % e e aﬁzﬁmaﬂﬁ feorferal € :
(1) WU, sy (2) S iTEm; <o o
(3) e ofem; S (4) I YE; IW 9w
74, Which of the following best reflect experiential strategies in teaching EVS at primary level ?
(a) Discussion (s (b) Demonstration
(©) Field Trips "F-;“Il (d) Art integrated learning
(1) (a), (b) and (c) ¢ ;ﬂ (2) (a), (b) and ()
(3) (b), () and (d) Ly @ (@) () and (d)
fretfafas # @ @i mafie T TN TEM H SgiEm ORI R v seon gyt ¥
(a) ~ (b))
© q?&j () e T e
G ENC TR @@
3y (b), (0) @ (d) () (@) (0 ¥ ()
sl T 23

=



75.

76.

77.

P-4

BT (A) SR (R) W T (), (a) 5

Environment in EVS means :

(a) Man-made environment ((3)) gz;zs;le:;::fjﬁ::t

B”- f;d?tl)m(\;hﬂm;t (2) (@) and (b) i;g(?’) ®land(c) (4 (2)and ()
» \D), 2 L LY

—gﬁ'\'@l ﬁ“ﬂ?ﬁrtﬂl, 31?4‘1?[: e e

(@) " a fafd vt (b) u;@ 5

© R T ) - Sy T g

{8

if
i

O @Ok @ @O 56 ©) @

L

|
i {3
L™

@ (@) & (

|| iy
gl

Read the Assertion (A) and Reason (R) below
Assertion (A) ;

Reason (R) :

choose the correct option.
Travellers like Al-Biruni and Ibn Batuta travelled from

Travelling led to sharing of ideas between people.
(1) (A) is false but (R) is true. . ' 1

(2)  Both (A) and (R) are true and (R) explains (A).

(3) Both (A) and (R) are true but (R) does not

India to different COuntrieg,

explain (A). _
(4)  (A) is true but (R) is false, _ L
Tt st (4) T HWT (R) i w@?gjﬁ%ﬁmﬂéﬁmaﬂwﬁl
AT (A)

SR T T S A e 4 ffirey
HW (R) ; mﬁﬁﬁﬁfﬁﬁ@—@’{%ﬁiﬂﬁ
(1) (A) T ? foreg (R) w3

< =t I =
aﬂ%mmfﬂw%l

i Jb i

3) 3 (a) a?h(n)ﬂé’r%%(k), (A)ﬁaééﬁaﬂm%
(4) (A)vé‘r%ﬁﬁ(mw%l_ P
Statement I : The EVS curriculum is fr

Statement I :

i depth study of children
Tepresent the social constructivist perspective,
(1) i ut Statement IT is trye
(2) Both the Statement | '

(3) Both the Statement |
(4) Statement | is true

but Statement 11 is fa?feﬁ
T | ﬁmqﬁmﬂﬁ@ﬁﬁawﬁmmﬁm&aﬁwmwﬁl
HAT 11 w%mmm%mqmﬁmaﬁﬁﬁm%ﬁwmwmﬁﬁ
BIRIE B T s;“-«u_%
) T ST & 9] ot 11 e Te)
() asmlai’r{memuaﬁfqa%l {3
(3) TR HO 11 2 g 3 Gy
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3 NCERI; textbo?k GlfifdE:‘i"sf-i\;C'tllzlleal;‘fa é?ufl :aal story of Suryamani who lives in Jharkhand. The
chapter depicts tribal life dent yamani. Select the most important aspects addressed by
the chapter relevant for students.

(a) popular perceptions and biases about thdtribal communities.

(t) Close relationship between forest dweile‘is}%mnuniti%) and forests.
(c) Girls education how it changes thei life, *

sy

(d) The forest products used by tribes, g“ai

(1) (b)and () ~AZ (é)jjb} and (c)

(3 (), () and (@ @ @Y and (d)
GﬁmﬁWWﬁmﬁm%WWﬁ@mm%l TE AT
e e S A S sffiv Y exie &

TN % fore, Wit st gRn wehfi e e
e 5 W
(a) mﬁw&m‘i%aﬁfﬁmwﬁ&#ﬂwl
(b) e (W) SR S 9T T AR S ¥ e o e
©) Wﬁﬁmﬂ%ﬁmﬁﬁﬁﬁwﬁ%

(d) mﬁmmﬁmﬁqﬁrmﬁﬁqaﬁaﬁamn

UUENC @ @b

3 ), 3 () ® G @
79. -

“Record how the seeds germinate into sap]jng{?dm day 1 to day 10”. Rita gave this task to her
students before teaching the lesson on ‘Germination’. She is trying to assess her students’ ability
fo: : : : )

iy

@) draw and represert (b)  predict how germinating seeds would look like

(C) Ubﬁerve and record {d)- infer ,fTDm the giVEn ﬂCtiVity

@ (@), () and () (2) (a) and (b)
7 (b) and () (4) () and (@)

et e ) 10§ fert o ofver Form wone oot H ST T ) G0 9 sior ot s v @ vy s
T ) 2 et feryr 1 e T O @ B YR 1 STHEH R0 ) i @ 0

©) o, o wegn O Y P saf o
©  Frtem =t o feté (d) @mﬁwm
D @) @) @@ a (%53’?1 o
O @ (), () (@)
R
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80. Mountaineers suffer nose bleeding at higher altitudes because :
(1)  Blood becomes thick at higher altifudes,
(2) The pressure. in blood vessels exc;geiii outside pressure.
(3)  The pressure in blood vessels de%’%iiges than outside pressﬁre.
(4)  The pressure in blood vessels equals.the outside pressure.
ﬁa@ﬁﬁ@ﬁw@aﬁmwﬁwgﬁmwm%;
(1) ﬁw“mﬁmm/mwﬁw%ﬁ
(2) ¥ feamisl § <ora el <o & w1t g s ¥
By T Sfehisll H <ae amedt e & 8 o ¥
(4) < s e et qe ¥ e o

_ ¢y _
81. Which one/are of the following moun"t'z*?!ix‘;:% is/are considered to be volcanic in origin ?
. 3B !

(@) Mt Kﬂimahjai'o 0 i) Fujii:ﬁﬁa - (c) The Alps

@ @ad®) @ _@Wad@> @ Gand© . @ ony
e 4 & = /8 v/ 2 Sy e % A et 22

=
=

Choose the correct optiori 3

AR

(2) TS s (b)) wEfEE C©
Fﬁﬁmﬁﬁ :

T Teq

M @FE @) @FkE @) mEg @ e

82. Roshni, an EVS teacher displays a data chart for how many seeds out of 20 seeds each of musta*
green gram, Bengal gram and chilli se¢dS germinated. She asks students to explain why variat®
in the germination rates of different sg%ﬁ:sgoccur. She wants to assess the skill of :

(1) investigation (R
(3) prediction

experiment
Ek‘@ | drawing inference

ﬁ?ﬁr,ﬁéiﬂwﬁifwﬁw,mw,%waﬂtﬁﬁ%uﬁmoﬁﬁﬁﬁmﬁmﬁwg%

Fee 1 1 St | 57 B e e v s o g < e
&1 N BRI 91 e e B b
(1) i (2) W

AB) T e R Dyl
FeefTeTt f
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0
Stories and narratives haye been use

: &b
Asserhﬂfl Objective is to sensitise the g d throughout the EVS textbooks.
Reasont  story Of narratm extboc. since he or she can empathise with characters in
st within our § ks should sensitise the child to wide differences that
) The Assertion is false but Rﬂgsnn is trye,
tion and R
(2) i‘;ﬂ;ﬁinmser & elalapn are correct and Reason is the correct explanation of the
t d R
(3) ??Aife;ﬁtf::lr e e eas?n ate correct but the Reason is not the correct explanation of
5?”%
(4) Assertion is true but the REEHQQ,_II is false,
AR : %EiIEE%!iaélBﬂﬁFﬂﬂiiﬁmﬁﬁ@Rmmwﬁﬁmw%l
T R ﬁi{mﬂﬁwlaﬁﬁaﬁmﬁrﬁwéﬁmumﬁﬁlwm%i
EIC2RISET T HHI % e v waraek W o 9wl s =i
(1) e e ¥, T RO A |
/(z( AT S HROT S T ¥ sl T, e € o e F
() SR 2l THROT TE ¢ Wk s, ﬂﬁlﬁ%ﬁg‘émqﬁm%
@ arﬁﬁmm% mméﬁéx%l . | o< [ 55077
G, "L I
On a Union Territory map on 1ts One corner followmg scale'is mentioned.
Scale, 1 cm=155 m i‘E
Ifa person measures the dmtancahemeen two cities as 19. 7 cm, the actual distance between the
two cities is approximately : éﬁi‘ -
(). 305km  (2) 310 Ky 3) 31-0_0 km u@‘f‘ 3.05 km
mﬁmm%mﬁa%@ﬁmﬁﬁqmﬁﬂﬁﬁWW%l
U9, 1 cm=155m
gﬁ*ﬁaﬁiﬂsﬂmﬁimﬁmﬁ%é\ﬁﬂﬁ@197€mW%ﬁTﬁaﬁ’l¥mﬁ?ﬁaﬁaﬁmﬁ$g
) 305km () 310km (3 3L00km  (4) 305km
5. The Volume of the earth consists qf‘tlgl following : - o ﬁ%‘
@ 1% Crust (b) -84% Mantle (c)  15% Core
Choose the correct option from theufollowin | 0185 ¥
ALY All (a), (b) and () are corre?tﬁ (2) Only (@) anj (E) fih Sk,
(3) OTIIY (b) and (c) are c:{:rrrec:tE ﬁ (4 Onl}’ (a) an (c) are correct. , ?@ 7& qu -
1 ¥ e H forefefad 2 %
@ 1% T ) fsgf% few 80 T8 R '1~s
)
Wt # 4w foed 31 \ "“MM
(1) T (a) (b)ﬁr{(c)'aﬁ"l%l (2) W(a)?:(b)::sl 0
: el (a) $T(C) ' ql°
®) e (o) @i () T € ) @) WY, ¢ e
By | 27 " Yar & e Ld ’
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1 the following Assertion (A) and Reason (R) and choose the o
Sﬁ' Rl’(‘k

Trect option,
g : People can easily float on the surfac '
Asserfion (A) know to swim.
Reason (R) :  Dead Sea has 300 gm
. salt concentration

e of water of Dead Seq even if B 4 A i
Ty

of salt in 4 -
N one litre of Water making it, the geq having higy
% 1 6
(1) (A) is false but (R) is true. t

(O
(2) Both (A) and (R) are true and (R) explﬁtﬁ"{{&. .
(3) Both (A) and (R) are true byt (R) “

. dose §@?%xpla' N K
(4) (A) is true but (R) is false. g'-% ;':g in (A).

Ay (8) T & Ty () w2 AT
) éﬁ‘i(A)@(R)ﬂﬁ%w (R), (A)ﬁ%’ré?rf@:l%rm'.%l'
() <V (&) W (R) W% g (R), (A) it

| | %{Eﬁm%l

@ WWIFgR ™Y - e
| . s (%) 8
| . S e L
87.  As an EVS teacher, you wish - LR e e
Y Your students to be aware of their own saf d adults so thd

’fhey (can take care of themse ves and) do not fﬁﬁ% Iéy b D satety around a 80
1s most appropriate ? Fe. b L

%% 0 sexual harassment. Which step you this
i b : '

defem;e workshops for girl stifdenits
(2)  Teach them about POCSQ Act, 2012'

(1) Hold self-

(3) Teach them to avoid strangers

(4) Hold WOTkéhOPS about ‘Good Touch’ a'l'lld “Bad Touch’ : ;
5% ¥ 3550, A et o o e e s e e
L TS (S S o s e e R TR | T R e R S
| (1) TPl % fo seren i sEE A

@) R, 002 FaR it )

®) Rowfrdl it o
) "TETE SR ez A ke SR Py |
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Select the group of poor conductors of heat from the following
(1) Wool, Plastic, Wood “12)

Wool, Wood, Iron
{3) Air, Water, Copper (4)

) Air, Wool, Aluminium
ﬁﬁm%gﬁmwmmﬂmﬁ g’;‘ms

1 ¥ weH, THel
@) @MW = q-egf‘qﬁqq
Ty

Samar asks his students to consult their ; anml members t ¢ food
items cooked by different methods like ste Y ers to find out the names of different foo

reason for this activity is to: £33 ng, roasting, boiling, ff}' ing etc. The most appropriate
(1) encourage home work

(2) encourage experimentation -_

(3) improve social interaction

(4) provide opportunities for children to work in groups

wmaﬁ%mw%mﬁ@%ﬁ%mm%ﬁéw _a3TerT el § e T
W—wmweﬁ%?@wwm%ﬁ?mﬁ I, aam,meqﬁ Ty SUTF SR
?l

A e e S

@ W e E ot
«(3) s ara:fman | gar wE Ei%
(@) == g A T w F ST R

30.  Select maximum number of suitable tools of assessment to assess process skills in EVS

() Teachers diary (b) PFoject' work

(© Drawing diagrams (d) Picture reading

(1)  (a), (b) and (d) (2) (a), (b) and (c)

() (b), (c) and (d) @) @) () and @

0 e 8 o A 1 ST L[, T SR SOl i St S 1 <
Eid <

(@) T = (B A e

() fert=mm (uf ) Fort v

40 (@), () @ @ (@, () 9 ©

B) (o), (o) 3 (@ @) (@) () M@
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Pl A 29



y

Rl -1y
W-I-:ﬁ:@,
e T S
C “ﬂmﬁﬂmw&% 91@120)%?@%@1%“%%@3%%—1%%@%
LA L

Wmﬁwﬁwwﬂ“mmemewmm'

sy it T 1 T Blal.2hL AT Wier 8 ST T 51 T 1 et T e 6 S T | S
et 1 RO T, ST S, T S e 5 o et sy | et ATy er% 7 =1 M 4 ol
s e &1 7€ el ST & o et &, et e 1 et e g e el I B
-y ﬁﬁﬁwﬁﬁﬁ@ﬁw%m{maﬁmmﬁnw%ﬂwwm%%ﬂﬁmm
e, T T A o o & |

ol AT T 8 T, s el ol werete it o o s | o, et @ 3 o & s
A iR O el e Y, P T &1 e o S sy e e S £, 9 S A
1 47t TSl & S 2

o1 S S T -

) Fofmm gy TEm T (3) oy w 4) uHHE g
92. mmww%ﬁqﬁ%— |
(1) ST S TS g (2) TE W SHW AT

(@) o9 e ¥ foru e e JA) T 1 TR

93. w%fﬁgﬁﬁﬁ@ﬁaﬁﬁé? e

(1) v, SHE " R (2)"-- v3. foem, sigw e
() I =FH, I° FE Sy us few, o
: 9%. ‘sremEn’ wre W m'ﬂuﬁmmmm%
(1) % 2 @ S = @)
%. T ¥ fw 1 @ T STHL B T |
(1) e é& i Wy e @ W=
| S
%. meﬁqm@%maﬁ%‘@? "5
W g @) - S T
®) giwmF (), IR Y
9 W%Wﬂﬁm% 1 95 Wew ¢
B (Y fowm (3) @ (4) siFw
™ | 9 g

| ¢

Ut st o

|



o wmR ﬁﬂﬁmﬂﬂ*@l
e B B (2) v, T
(3) e e, @ea-Fmim <
. fRm AR N :
99 E?mam_ﬁ'qu oy At e (zmﬁ (4) AFEE Hdeq
ﬁa@mﬁwm(g@100-195)%%3%31’%@@%%%1
Tﬁﬁ,ﬁﬁﬁ,ﬁwpwmm%ﬁ%’ i__%ii_s
ot st o) 2 o R R L3
fee were <feqmn g o fodra 2
i o i fead =R 3 7T R,
gﬁﬁqﬁﬁaﬂmﬁtﬂéﬁ%ﬁ'ﬁﬁﬁﬁl

100. “Temrera” =1 Gfy-farsde § -
O Tm+smm ) e

3 few + oo
101. mﬁmmmaﬁ@ﬁmm%? Z:*‘ . |

1) &g (2) VR o Jﬁiﬁmm%ﬂ (4) T
102. SR Hrogam wg - i 8 S _

O BN g * ONF Y %
103. T & <1 7 Ford ' S

(1) oA g afet 3 () Y whEss

() <R e wm L&) o e ey
104.W'ﬁmﬁ1‘maaﬁﬁ%q¥mﬂaﬁamﬁq§%a s

(1) ﬁ%ﬁﬁ%mﬁmmﬁm

(2) fomi M6~ 1 e fop

S oy 3

-1 B
g =8
Ty =R

® TwAd I O Y (g g
u |

o
Sh Frafer o -t ot foremerm A 1 o S
“T Tl ST % A e s =i 2 e
(1) wﬂﬁ%%mmm@%
Mﬁawaﬁwmmm FL T e .
£ aﬁiﬁwﬁlﬁﬁmm%wﬁﬂhﬁgﬁmﬁﬂﬁ‘qumaﬁm
4) aﬁaﬁﬁmmmﬁm

P IR =



wmmmnmm%aﬁaﬂ@aﬁmmﬁmﬁaﬂéﬁﬁﬁ@mmﬂ .
mmwﬁ%mﬂhﬁﬁwﬁ%u =0 YR ¥ Anfey H w2 AT, o
() 2 fe 421 TR (RIRIEET)

(3) TSt fem 4) WEE A

E =
‘i

108, ST ST SFeret Tt wifed de € S ©
W ﬁﬁwwﬁw(mﬁ)ﬁwm
(2) = B e & e e W o oy o
3) aﬁhﬁaﬂammmawmmmm
(4) w1 1 S % e feu W

—

l L“"“z.

U‘n ﬂ%lm

]l

109. ﬁmﬁiﬁaﬂﬁﬂﬁﬁ—mwmﬂw%a@w%?
(1) Wwwﬁi@ﬂﬂﬁﬁmi
) T ST S fernedt 3 for A T A €
s o1z Tl i fefad SRed i W w0 A Heg H ¢
(4) ¥ T for ks nfafafei 6 Ao €

110, 3779 e U & STEATTH ¢ | aﬂﬁfﬂ@ﬁﬁlﬁmwmmﬂm%mm@—m;mm
Heyf SR TET =l wﬁmﬁgﬂ#mﬁ’%ﬁmﬁﬁl =g gfeRan & g & faentdei = g a
%W%ﬁmﬁmﬁaﬂaﬂ@%? I

(3) wE ¥ ST _ﬂ’f_jtrmﬁﬁhmqa:r
it mwmﬁmwwﬁ@ﬁmmmﬁmwwﬁmmm
a1y B Y |
(1) FeAw T 2 EIREED *ﬁs==='(3) E _._(4) frenuicas

112.wn¢ﬁmﬁmwmmmm%ﬁ%ﬁwm |
(1) feor & wrezm § 219w FEA ey
2 SR WA A A6y
@) FrmwgIFA Ry
(4) STETaE FEHYY YEA HE =T

b

=

i
I\I]lll iy
(]

= ==
g 5B

113.__Hw‘fﬁﬁaﬁwaﬂqﬂ2’il%wm%|
(1) A 1 R (RN (3 ST e
&Ly fowmm wen ﬁﬁﬁmﬁﬁm-m

114, el § HGIT 1 T A <1 R oy 55} f %7 '
() o (IER) (2) TR fi;é(a) g . (4) Fox Wit

P-4 A 37 D




F = o IR o
R 3 A S Wh T Y THH P N YN 3 Fere wgten e | gy "
5.  fore ¥ mmﬁﬁmmmwﬂmw\%_%? 5 mwwﬁ

) "L 2 ’ iﬁﬁ) T

T
',

116. @W.Wﬁ?ﬂﬁ@ﬁ%ﬁ?&fﬁﬁaﬁmﬁm%ﬁmi M

(3) mﬁmﬂmm@%%mmﬁmmmml =
(87 TR ey IR b

119, T 0 7% %% ¥ 1% s arfems ¥ wom awed &
(V) e Pt W @ S
AZ) T E TR AR T @ ¥ e ety den ) ATy |
() = ST pall 35 v e o e e e s ¥ ke 4

i

(4) T % TR ai‘r{aﬂ%mﬁ%aﬁamgmmmﬁﬁaﬁw%ﬁ%l

120. o Ao H Temrcs gien w wwm iy ! 5%3
(1) ToafE % gnfs fode =i 3§ wawe o) L
(2) e SR % fe dem T W S L)

(3) eIl Toiews Sew o ﬁﬁqﬁﬁaﬁgﬁaaﬁw.aﬂtmﬁﬁg%\zmy
(Vﬁﬁmﬁmmﬁaﬁﬁw 3R SUARRAE Hed TSIl

P-1 (AU 38

Wis ) HRNET TR P



PART -V
LANGUAGE - || : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q: No. 121-150), if the;m\

opted for ENGLISH as LANG@%E-II only.

i St . (121 to 128)
1ead the passage given below and answer the uestions that follow : ( 0 '
Perhaps the worst of the ordeals was to be shut ih a darkened room for long, uncertain periods, in

e

=

olitary confinement and complete silence, Gagarﬁﬂﬁmseu described the experience,

“There was no sound, not even the slightest.risstle. No movement of the air—nothing, It was
jncanny, unnerving.”

He would shut his eyes and imagine himself E'_%E_fspace-cabin in orbit, looking at the world passing
seneath him; or sometimes he would recite half-rerfiefbered poetry to himself.

Then, came parachute training, Gagarin njaE forty parachute jumps of gradually increasing
difficulty. |

O?;e of the most interesting of the training experiments was the method of providing experience of
weightlessness. In the early stages the express lift of the great Moscow University building was used.
From the twenty-eighth floor to the bottom allowed a‘drop of 500 feet. At a certain high speed the
passenger would find himself suspended between the floor and ceiling of the lift without support. This
was a convenient and inexpensive way of reproducing ‘zero gravity’.

Special air brakes prevented the lift from crashing as it reached the bottom.

On the morning of April 12, Gagarin roge=at 5.30. He was zipped into his complicated
space-suit, on top of which went a pale blue fibre sﬁf@nd finally an orange one. Then an Air Force bus
drove him to the launching site in company with vatious helpers. The gantry lift took him up 100 feet,
to the nose of the rocket, and he entered the cabirt.(igmed Vostok) with a wave to those below.

121. One benefit of travelling in the express lift t6 Gagarin was that :

(1)  he could come down in less time. (2) —he-did not have to pay for it.

(3) it was very thrilling. \@/’ _he experienced zero gravity.

122. Study the following statements: = % ' ‘
(@) On April 12, Gagarin woke up at 5.00:.;&:;
(b) He wore a blue space suit. oo |
(¢) He travelled in space in Vostok. ; : €, =
(1) (a) and (b) are wrong but (c) is right. '

") (a) and (b) are right but (c) is wrong.

&) (b) and (c) are right but (a) is wrong.

4)  (a) and (c) are right but (b) is wrong.

123, Gagarin was a/an:

7

paratrooper ./6 iﬁﬁcg Exaveller
() adventure tourist (4) ¢ physicist at Moscow University
124, /. ]ooking at the world passing beneath hiﬁiﬁ
The underlined word isa/an . (%3 ,
conjunction ~ (2) article —(8) preposition 4" adverb
v Study the following statements : . 3

a) In his private life Gagarin was a poet. %
) | In the experimental darkroom there wasmo air, "
W Both (a) and (b) are right: (2) (g} is right and (b) is wrong,
(3) (b) is right and (a) is wrong. (4) Both (a) and (b) are wrong.
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ed the cabin

: i he enterc@ == === clause. £ o Nlvait
SRS - s T = A 4 verb
12 The Underl?_'te:t els a/a (zrm QH Adjective (4)
" Coordin E it h ad
B , t up in a dar - Fopm ; —
127. Gagarin wasli'i':-‘m ;J space cabin (2) as pu_n1shm§ent
v('l I feilditate (4) ds an experlment
@ °r . , T
: i eway...) % 3
: enient and inexpensiv § o
e % nearest in meaning to the underlined one. :
Choose the (2) contrite m—é cordial (4) handy
4y cracking J)

estit : (129 to 135)
iven below and answer the quéstibns that follow : (1
= Iﬁm I?zfrf: %tf}wglr:r ie: the mid-1970s was a laid-back place, resembling a remote rural area
i s};me amenities. Our house was almost at one end of fhe town. About 15 km away,
21:::1? En']]age where a fair was held for a week

€very year during the harvest season. The village deity
the vicinity.

The journey would start early in the morning:, Wle children will be in a separate cart. T used t
eagerly look forward to this occasion every year astheugh it was a journey of a life-time and worth
* enjoying every minute of it. Money saved for this fair would b
journey. Whenever the car

e tucked firmly in my pockets during the
tjerked or sped away, | Would hold my pockets tightly so that coins would
not spill out. ' : L
- The crowd at the tem

ple in the foothill used t¢ Behighly unorganised, especially the food counter
where prasadam wag served. Hot and spicy puffed Eice and tea made of jaggery were the delectable
~combination of food and beverage every devotee craed for, :

. Going to the tem
‘ .hu.rriedly_ﬁmshl the fo

ple used to be the last prioritybf us
rmality of darshan, = "
~ . 129. Study the follow
(@) Children were

children. ‘Fearing elders’ wrath, we would
Ing statements - : |
given enough pocket mone
(b)  Small children

y on the fair day.v'
_ would travel with their
" i) . Well-to-do v

Parents in a separate cart../ _
_ c) . illagers liked to oblige the writer’s father, = | .
% u(él () and (b) are wron {on o
)

g but (c) is right,
o~ (@) and (b) are right but (c) is wrong,
- () (b) and (c) are right bt (a) is wrong, '
) (@) and (c) are right but (b) is wiong, ¢T3 .
| .130' Which one of the following statements ig not tiye?
(1) Prasaq distributed there was very delicions,”
: People vigiteq the fair f

or divine blessin S,
Most of the P &

eople visited the fair only fof itg markét.
(4) Prasag distributiop Was quite chaotic, 5‘*&@. T !
. 131.- Which one of the faffac.s ' {

callowmg statements ig trye i 3
(1)  People Visited his home town fop religiodsirehsons also
The harrator's home town was in 5 remg‘f‘”-‘r ea
(3) Life was comfortable in all respects i
._ 4) 1t was kno Or an annual fair,
y i s : . g D
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32, The devotees thronged the fair,

Choose the option which is nearest in meani ¢ _
ean : »d word.
(1) appreciated (2) g to the underline

33. Tused to eagerly look forward , | ‘

Choose the word opposite in meanin

to th ;
(1) - indifferently Sl i

) 11earti1yl '(ST;} ineasily (4) easily
34. Study the following statements - Y

(a) The writer would be very careful while tr

pi e] : avellin g in the cart.

(b) Inspite of the jerks and jolts, the jout i oy

(3) (b) is (1'1) ht ) . (a)iis, fight and (b) is wrong.
( ) ) i -g al'ld (El) iS Wrong‘ > E =

(4)  Boftr(a) and (b) are right.
135. ‘Only a mud track led to the village', - .
The underlined word is a/an

(1) Adverb (2) Noun . (3) Pronoun M AdjECﬁVe

136. At primary level a teacher gene_ra]ly motivates learners for colouring and drawing as it helps in :
(1) relaxing the teacher from teaching, ' ' : '
(2) engaging learners to maintain silence

5

/(}f developing fine motor skills. =
(4) - entertaining learners. .

1

{
T

137. The statements that describe the knowledge, s :,_

. ; ___'_'gnd attitudes that students should acquire by
the end of a particular class or course come unders e

A foundational literacy outcomes, = (2) teaching outcomes

(3) learning outcomes (4) nu%l_g?_r%écy outcomes

it
T

138. A teacher promotes group discussion and peer métr;cnon in her classroom. She does not bother
to correct spelling or pronunciation errors. She Sising B approach in her classroom.

Constructivist (2) Traditional (3) Eclectic - (4) Structural

139. To teach tense in your class you use two pictures of the same p(-':rsion - one picture taken 15 years
~ ago and another just clicked. You initiate a talk in the class about his present and past - his
appearance, his habits, Now, you are using : -

(1)  Rule based Grammar @ Prescript'ive Grammar
@) Structural Grammar (4) Peg%ggglcal Grammar

140. While preparing a Lesson Plan on the topic ‘Pollutign” what will be your first step ?
, prep g : (2)7 =Prepare introductory questions
Frame objectives . : (4)= Select teaching aids
() Go through the topics many times T ; U——
14 . 1l d without any. systematic practice, it is called :
. natura an a5 R -
m‘elléangl%age 5 1631"?2) Erugition AZ” Jrequisition (4] Acceptance
earning s

Semmess

14y Chjld:en learn a language most effectively whep%}}ey have

i (2) a proficient language teacher
T ' (4) inli"iﬁi%ion
a good textbook

X a1 D
g
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143. Linguistic competence eﬂable:isll‘:amms .oy | _
Q) el 5 Eﬂg lly correct and incorrect .
(2) differentiate grammf.*hfa ‘}’ il F-'C- sentences
_A3)  speak fluently even if 1}01 gmh ; ally correct _-
(4) know how and when 0 use the ang“a%figpmpnately

; ife objects like umbrellafTaificoat, scre
g brings real-life objects LTathcoat, screw
= ﬁ;ﬁ:g?;:o dc%s%ribe the objects 11 two to threeﬁ_é;_entences, The
the class is technically called

driver etc to her class. She g Sty
materials that the teacher brjngg S

¥ Realia (2) [:;?g__i;lguage input
}(;;) Teaching instruments @) 1 gdr_;?
L =l

145. Today Raju is very happy as he 1s going to s«:hdgé_:ﬁﬁe is the first from his family
None in his family, not even his parents, hact;éﬁ__v? been enrolled in any scho
learner. i '

(1) Minority A2 First generation
(3) Second generation (4) Marginalized

to come to schog
ol. Raju is thlls;;

146. One of the important features of

is that the learners solve problems COHEC&VEIY—EithE
In a pair or in a group.
(1) structural approach 5
(2) communicative language teachin 5::‘*
(3 behaviouristapproach . . {7%]
(4) whole language approach == =—

147. A teacher asks her learners to write a parag;gp]:;: on ‘water’.” Then the learners start discus
what they have been taught in science and %sotial science classes. Then they begin to writ
paragraph on water. This is an example of : i - -

(1) Communicative approach
(3) Language of science

(2) a_i;:’iguage in -ﬁs_e. ,
_» i]jai_f}guage.across curriculum

148. You as a teacher find that the language used in the lesson is very difficult for your learners. }
simplify the language and also make certain changes in the content to suit your learners. I
you have done is called : : ' : LR {

1) Review () Adopting © (3 Adaptation (4) Evaluation
149. You were born and brou i i e Hindi ’
: ghtup in a village where everybody spoke Hindi and vou too began
this language withoy . 24k we pietliindes e

anskrit, Hj going to any school, Fater wh
Sanskrit, Hindi angd J , r '
language ? rdu, Now, you speak Eggh

(1)  Sanskrit

: ]
en you went to school you stud_led E“rgi.
sh very fluently, Now which is yo!

i qg:vu:-
When you £0 10 teach, L

s . ool

» you find that the textb DOk gDegi\:&ﬁ with rhymes and picture stories s g
with the alphabet, Which approach does thisliéintl of arrangement suggest in languageé P
(1) Aesthetic approach

@) T 42 lHoftom up approach
0p down approach @) (Helpctic approach
P-1 Iy A
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